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1. Problem 1: Please provide mechanisms for 5 of the following 10 named reactions: (25
Points) - * indicates this named reaction MUST be one of your 5.

1. Arbuzov Reaction *6. Biginelli Reaction

2. Baeyer Villiger Reaction 7. Bishler-Mohlau Indole Synthesis
3. Bamford-Stephens Reaction 8. Bernthsen Acridine Synthesis

4. Barton Reaction 9. Bergman Reaction

5. Baudisch Reaction *10. Barbier Reactions
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Problem 2: Below is an intermediate we discussed in class. Which carbon reacts first, 1 or 27
lllustrate your answer by performing a double alkylation using Mel and Etl as your two
electrophiles. Show how you would form the intermediate from a p-keto ester. (15 Points)
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Problem 3. Please prepare the compound noted below from starting materials that contain four
carbons or less and cyclohexanone. (15 Points)
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Problem 4: Show how you would synthesize the following molecule. Use retro-synthetic

analysis to br ertinent bonds. Provide mechanisms for every step you use. As a hint,
start with(cyclohexanone and some other compound of your choice (From Quiz #1). (25

Points)
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ANSWER:
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